
https://www.pass2lead.com/4a0-c01.html
2024 Latest pass2lead 4A0-C01 PDF and VCE dumps Download

 

 

 

4A0-C01Q&As

Nokia NRS II Composite Exam

Pass Nokia 4A0-C01 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/4a0-c01.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Nokia
Official Exam Center

 

 

4A0-C01 Practice Test | 4A0-C01 Exam Questions | 4A0-C01 Braindumps                                1 / 3

https://www.pass2lead.com/4a0-c01.html
https://www.pass2lead.com/4a0-c01.html
https://www.pass2lead.com/4a0-c01.html


https://www.pass2lead.com/4a0-c01.html
2024 Latest pass2lead 4A0-C01 PDF and VCE dumps Download

QUESTION 1

What modes of authentication are supported for RIPv2 on the Alcatel-Lucent 7750 SR? 

A. RIPv2 supports basic and MD5 authentication only. 

B. RIPv2 supports password and MD5 authentication only. 

C. RIPv2 does not support authentication, password and MD5 authentication. 

D. RIPv2 does not support authentication. 

Correct Answer: C 

 

QUESTION 2

What happens by default on an Alcatel-Lucent 7750 SR when a VPLS accepts a tagged frame at the ingress SAP
1/1/1:100? 

A. The FCS is verified and kept in the customer frame. The VLAN tag is kept and transported over the network. 

B. The FCS is verified and kept in the customer frame. The VLAN tag is removed for transport over the network. 

C. The FCS is verified and removed from the frame. The VLAN tag is kept for transport over the network. 

D. The FCS is verified and removed from the frame. The VLAN tag is removed for transport over the network. 

Correct Answer: D 

 

QUESTION 3

Facility fast reroute with node protection is enabled for an LSP, which of the following is FALSE? 

A. Each PLR signals a bypass tunnel that avoids the next-hop downstream router. 

B. When a failure occurs, the PLR pushs an additional label onto the label stack. 

C. No bypass tunnel is established if the PLR cannot provide node protection. 

D. The head-end router sets the local protection desired flag in the session attribute object. 

Correct Answer: C 

 

QUESTION 4

What are the ways the RID can be created on an Alcatel-Lucent 7750 SR router? (Choose three) A. From the last 32
bits of the chassis MAC address 

B. From the first 32 bits of the chassis MAC address 
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C. The loopback IP address 

D. By using the command "config router ospf rid X.X.X.X" 

E. From the system IP address 

F. From the highest interface IP address 

Correct Answer: ADE 

 

QUESTION 5

An SDP using GRE encapsulation is configured for an E-pipe service. The network port used by the SDP has an MTU
of 8000. What value does the SDP path MTU have by default on an Alcatel-Lucent 7750 SR? 

A. 7958 

B. 7978 

C. 8022 

D. 8042 

Correct Answer: A 
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